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EXCEL MACROS 

Function DesShrinkStrain(t, th, RH, basic_shrinkage_strain) 

'AS3600-2001 

't=time (in days) 

'th=hypothetical thickness (in mm)...th=(2*Ag/ue) where ue is the exposed 

surface area plus half the perimeter of any closed voids contained therein 

'RH=Average humidity (%) 

'consideration should be given to the fact that this value can vary by +/-30% 

'Arid RH=40%; Semi-Arid RH=50%; Temperate Inland RH=60%; Tropical RH=70%; 

ks4 = 0.62 + 1.5 * Exp(-0.005 * th) 

ks5 = (4 - 0.04 * RH) / 3 

ks6 = 0.15 * th 



ks1 = (ks4 * ks5 * t ^ 0.7) / (t ^ 0.7 + ks6) 

DesShrinkStrain = ks1 * basic_shrinkage_strain 

End Function 

 

 

Function escd(fc, t, strain, th, environment) 

'AS3600-2009 

'environment must equal arid, interior, temperate inland or tropical 

'final drying shrinkage strains are 800E-6 for Brisbane and Sydney, 900E-6 

for Melbourne and 1000E-6 elsewhere 

ks109 = (0.8 + 1.2 * Exp(-0.005 * th)) * t ^ 0.8 / (t ^ 0.8 + 0.15 * th) 

If environment = "arid" Then 

ks409 = 0.7 

ElseIf environment = "interior" Then 

ks409 = 0.65 

ElseIf environment = "temperate inland" Then 

ks409 = 0.6 

ElseIf environment = "tropical" Then 

ks409 = 0.5 

End If 

escdb = (1 - 0.008 * fc) * strain 

escd = ks109 * ks409 * escdb 

End Function 

 

Function esce(fc, t) 

'AS3600-2009 

esce = (0.06 * fc - 1) * 50 * 10 ^ -6 * (1 - Exp(-0.1 * t)) 

End Function 

 

 


